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Note: (a)All questions are compulsory,

(8)Marks are indicated against each question in square brackets.

(¢) The candidate is allowed lo make Suitable numeric assumptions wherdy ig{ééjrufi’ed for
solving problems g
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Q.1. Discuss the intensity distribution in interf; 3%;‘ﬁ*§tli§%§elp of the resultant intensity

nimum intensities).
[CO:1 ; Marks:2]
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Q.2. How to determine wavelength of the light s
Newtons’s ring experimental setup. -

[CO: 2; Marks:2]

Q.4. How to find out width of centralmaxima in plane transmission grating? [CO:2 ; Marks:2]
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Q.5. Two coherent sQ_urce;sd%"f_@j_utensity ratio o interfere. Prove that in interference pattern
I S N/

—IE i “*ﬁ—-\/_ [CO:1; Marks:2]
1 max + Inlin 1 + a

Q.6.  InZYoung’s double slit experiment, the slits are 0.5 mm apart and the interference is
observed oma screen placed at a distance of 100 cm from the slits, It is found that the 11% bright

fringe is'ata distance of 8.835 mm from the fourth dark ring from the centre of the interference
patterr
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Find the wavelength of the light. {CO:2 | Marks:2]

Q.7. In Newton’s ting experiment, the diameter of §° and 15" rings are 0.5 and ] cm,
respectively. Find the diameter of 30 dark ring. [CO3 ; Marks:2]
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